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https://www.100test.com/kao_ti2020/108/2021 2022 2007 _E5 B9
B4 E5 BA A6 c70 108561.htm 1. A year ago the firm had a loss of
4.3 million dollars or 20 cents a share after all necessary deduction. A.
total B. gross C. net D. clear A. B. C. D. 2. Everyone pays the same
tax rate, irrespective whether they are married or single. A. of B. to C.
from D. with A. B. C. D. 3. Many novels that attempt to mirror the
world are really of the reality that they represent. A. reflections B.
demonstrations C. illuminations D. reproductions A. B. C. D. 4. A
strike in the mining industry is to bring a shortage of coal in the near
future. A. causing B. threatening C. resulting D. proposing A. B. C.
D. 5. This advertising company managed to obtain the right to do
the advertisements for a famous joint company in Beijing. A.
exclusive B. excluding C. extra D. extraordinary A.B. C. D. 0 O [
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